

$$x^r - (x+1) = 0 \quad | \quad x-1 = 0$$

$$x^r - (x+1) = 0 \quad | \quad x-1 = 0$$

$$0 = R - \{ \dots \}$$

$$|x+1| - |x+1| = 0 \quad | \quad (x+1) \neq 0$$

$$x^r + 1 + x = x^r + 1 + x \rightarrow x^r - x - 1 = 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

$$D = R - \{ \dots \}$$

$$|x+1| - |x+1| \geq 0 \quad | \quad (x+1) \geq 0$$

$$x^r + 1 + x \geq x + 1 + x \rightarrow x^r - x - 1 \geq 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

$$|x+1| - |x+1| \geq 0 \quad | \quad -\log x \geq -1$$

$$\log x < 1 \quad x < 10$$

$$|x+1| - |x+1| \geq 0 \quad | \quad -\log x \geq -1$$

$$\log (x-1) > 0 \quad | \quad x-1 > 1$$

$$\log x < 1 \rightarrow x < 10$$

$$|x+1| - |x+1| \geq 0 \quad | \quad (x+1) \geq 0$$

$$x^r + 1 + x = x^r + 1 + x \rightarrow x^r - x - 1 = 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

$$D = R - \{ \dots \}$$

$$|x+1| - |x+1| \geq 0 \quad | \quad (x+1) \geq 0$$

$$x^r + 1 + x = x^r + 1 + x \rightarrow x^r - x - 1 = 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

$$D = R - \{ \dots \}$$

$$|x+1| - |x+1| \geq 0 \quad | \quad (x+1) \geq 0$$

$$x^r + 1 + x = x^r + 1 + x \rightarrow x^r - x - 1 = 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

$$D = R - \{ \dots \}$$

$$|x+1| - |x+1| \geq 0 \quad | \quad (x+1) \geq 0$$

$$x^r + 1 + x = x^r + 1 + x \rightarrow x^r - x - 1 = 0$$

$$x = \frac{y}{x} = \frac{y}{x} \rightarrow (x-y)(x+1) = 0$$

حل) $\cos(x) + 1 > 0$ (✓)
 $\cos(x) > -1$ $\cos(x) > -\frac{1}{2}$

$D_f = \left(\frac{\pi}{2}, \frac{3\pi}{2} \right)$
 $\left(\frac{\pi}{2}, \frac{3\pi}{2} \right)$ $\frac{4\pi}{3}$ $\frac{\pi}{2}$ $\frac{3\pi}{2}$

$x = 1$
 $\frac{x-1}{x+1} > 0$
 $x = -1$
 $(-\infty, -1) \cup (1, +\infty)$
 $D_f = (-\infty, -1)$
 $\frac{n-1}{n+1} > 0$

$a + r = 0$ (1)
 $a = -r$
 $-r + b = 0$
 $b = r$
 $b = 4$

المقام لا يساوي صفر
 $\frac{1}{x^2 + 2x + 2}$ (4)
 $x^2 + 2x + 2 \neq 0$
 $x^2 + 2x + 2 \geq 0$
 $x \geq -1$
 $x \geq -1$

$2 > 0$ و $-1 > -2$ $\frac{1}{x^2 + 2x + 2}$ $\frac{1}{x^2 + 2x + 2}$ (10)
 $x^2 + 2x + 2 \geq 0$ $x^2 + 2x + 2 \leq 0$ $x^2 + 2x + 2 \leq 0$

$[x] + [-x] = -1$
 $[x] + [-x] + 1 = 0$
 $x \notin \mathbb{Z}$